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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe the following concepts with suitable 

diagrams :   7, 6, 6 

(a) Stable, unstable and neutral equilibrium  
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(b) Single and Multiple equilibrium  

(c) Partial and General equilibrium  

fuEufyf[kr vo/kkj.kkvksa dks lE;d~ fp=ksa dh lgk;rk ls 

le>kb, % 

¼v½ LFkkbZ] vLFkk;h ,oa fuf”Ø; larqyu 

¼c½ ,dy ,oa cgqy larqyu 

¼l½ vkaf’kd ,oa lkekU; larqyu  

2. Explain Cobb-Douglas production function. On which 

grounds the Cobb-Douglas production function has 

been criticised ? 15 ,4 

dkWc&Mxyl mRiknu Qyu dks le>kb,A fdu vk/kkjksa ij 

dkWc&Mxyl mRiknu Qyu dh vkykspuk dh tkrh gS \ 

3. Explain the Joan Robinson‘s modern theory of rent.  19 

tkWu jkWfclUu }kjk fo’ysf”kr yxku ds vk/kqfud fl)kUr dh 

O;k[;k dhft,A 

4. Analyse marginal conditions of maximum welfare. 

What are the obstacles to the achievement of maximum 

welfare ?   10, 9  

vf/kdre dY;k.k dh lhekUr n’kkvksa dh foospuk dhft,A 

vf/kdre dY;k.k dh izkfIr esa vkus okyh ck/kk;sa D;k gSa \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Indifference curves and consumer equilibrium.  

mnklhurk oØ ,oa miHkksDrk dk larqyuA 

2. Point method to measure elasticity of demand.  

ek¡x dh yksp ds ekiu dh fcUnq fof/kA  

3. Ridge lines of production.  

mRiknu dh _tq js[kk,¡A 

4. Price determination under perfect competition–

Marshall‘s time analysis of value.    

iw.kZ izfr;ksfxrk esa dher fu/kkZj.k&ek’kZy dh ewY; dh le; 

O;k[;kA  

5. Ricardian theory of rent.  

fjdkMksZ dk yxku fl)kUrA  

6. Social Utility Function.  

lkekftd mi;ksfxrk QyuA  

7. Optimum Factor Combination.  

vuqdwyre lk/ku la;ksxA  

8. J. K. Mehta‘s views on scope of Economics.  

vFkZ’kkL= ds {ks= ij ts- ds- esgrk ds fopkjA  
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Suppose your income increases by 10% and demand of 

commodity increases by 5%, then the income elasticity 

of demand is :  

(a) Negative  

(b) Positive  

(c) Zero  

(d) Infinity  

dYiuk dhft, fd vkidh vk; 10% c<+rh gS o oLrqvksa dh 

ek¡x 5% dh nj ls c<+rh gS] rc ek¡x dh vk; yksp gksxh % 

¼v½ _.kkRed  

¼c½ /kukRed  

¼l½ ‘kwU; 

¼n½ vuUr 

2. Consumer‘s  surplus is described as :  

(a) Extra quantity bought  

(b) Low price available  

(c) Happiness of the consumer  

(d) Difference between actual place and potential 

price   
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miHkksDrk dh cpr dks fuEuor~ foosfpr fd;k tkrk gS % 

¼v½ vfrfjDr [kjhnh xbZ ek=k 

¼c½ fuEu miyC/k dher  

¼l½ miHkksDrk dh izlUurk 

¼n½ okLrfod LFkku ,oa laHkkfor dher ds e/; vUrj  

3. Who, amongst the following developed and refined the 

technique of linear programming :  

(a) L. V. Kantarovich  

(b) Frederick Benham  

(c) Nicholas Kaldor  

(d) Alfred Marshall  

fuEufyf[kr esa] js[kh; izk;kstuk dh rduhd dks fodflr o 

ifj”d`r djus okyk dkSu gS \ 

¼v½ ,y- oh- dsaVkjksfop 

¼c½ ÝsMfjd csuge  

¼l½ fudksyl dkYMksj  

¼n½ vYÝsM ek’kZy 

4. The concept of real cost of production was evolved  

by :  

(a) B. B. Seligman  

(b) Mrs. Joan Robinson  

(c) D. H. Robertson 

(d) Paul Samuelson  

mRiknu dh okLrfod ykxr dk fopkj foosfpr dhft, % 

¼v½ ch- ch- lSfyxeSu  

¼c½ Jhefr tkWu jkWfcalu  

¼l½ Mh- ,p- jkWcV~Zlu 

¼n½ iky lSE;qvYlu 
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5. Who is the author of the ―Economics of Imperfect 

Competition‖ ?  

(a) A. Marshall  

(b) Mrs. Joan Robinson  

(c) F. Benham  

(d) D. Watson  

^bdkWuksfeDl vkWQ ba¶jQsDV dEihVh’ku* ds ys[kd dkSu gSa \ 

¼v½ vYÝsM ek’kZy 

¼c½ Jhefr tkWu jkWfcalu 

¼l½ ÝsMfjd csuge  

¼n½ Mh- okVlu 

6. Who has written the ‗Economic of Welfare‖ ? 

(a) A. L. Pigou  

(b) Nicholas Kaldor  

(c) Vilfredo Pareto  

(d) Leonel Robins  

^bdksuksfed vkWQ osyQs;j* fdlus fy[kh \ 

¼v½ ,- ,y- ihxw 

¼c½ fudksyl dkWYMksj 

¼l½ foyÝsMks iSjsVks 

¼n½ fy;ksusy jkWfcal 

7. Net Profit stands for :  

(a) Total Revenue – (Total Cost + Depreciation) 

(b) Gross Profit – Implicit Cost  

(c) Gross Profit – Explicit Cost  

(d) None of the above  
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fo’kq) ykHk ls vfHkizk; gS % 

¼v½ dqy vkxe – ¼dqy ykxr + kl½ 

¼c½ ldy ykHk – lfUufgr ykxr  

¼l½ ldy ykHk – ‘kq) ;k Li”V ykxr 

¼n½ mi;qZDr ls dksbZ ugha  

8. In which of the situation will the monopolist earn 

maximum profit ? 

 Marginal Revenue Marginal Cost 

(a) ` 2.00 ` 1.00 

(b) ` 2.25 ` 2.25 

(c) ` 2.00 ` 2.50 

(d) ` 3.00 ` 1.50 

fuEufyf[kr esa dkSu&lh n’kk esa ,dkf/kdkjh vf/kdre ykHk 

izkIr djrk gS \ 

 lhekUr vkxe lhekUr ykxr 

¼v½ ` 2.00 ` 1.00 

¼c½ ` 2.25 ` 2.25 

¼l½ ` 2.00 ` 2.50 

¼n½ ` 3.00 ` 1.50 

9. Which of the following statements does not confirm to 

the Ricardian concept of rent ? 

(a) Rent is not a part of the price.  

(b) Rent enters into price. 

(c) Rent is a differential surplus.  

(d) Rent differs according to the situation of land.   
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fuEufyf[kr esa ls dkSu&lk dFku fjdkMksZ ds yxku ij fopkj 

ds vuqdwy ugha gS \ 

¼v½ yxku dher dk ,d va’k ugha gSA  

¼c½ yxku dher eas lekosf’kr gksrk gSA  

¼l½ yxku dh ,d foHksnhd`r vfrjsd gSA  

¼n½ yxku Hkwfe dh n’kk ds rnUrj cnyrk gSA  

10. The curve representing the law of diminishing returns 

is usually :   

(a) Falling one  

(b) A horizontal one  

(c) Parabolic  

(d) A rising one  

kleku izfrQy ds fu;e dks iznf’kZr djrk oØ lkekU;r% 

gksrk gS % 

¼v½ fxjrk gqvk  

¼c½ {kSfrt  

¼l½ ijoyh; 

¼n½ ,d c<+rk gqvk  
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